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4. ����������./312+5�  

 
����������� 

��FB+451671 �-B�22����� 2 7B�� �=2 7B���B2��
�����-- ���.�
�	���
�����--�8�,	��1� 
1. 7B���B2����>+�
�����-- 

 451�7�>��7�H@1�����@5��A�������������
���I2J0/���/ 	?���� 4 �� C@1��B 

− �F;K
0�7
� ����+�12� 0?��.�B� Project Manager -��:
P C2-��2,+ ����PQCP� 	?��
@ 

− �F;���Q�/ ��.+-F0� 0?��.�B� Manager -��:
P I AM Consulting 

− 2�	���/8F��	 �57
�8�PW�X 0?��.�B� 2�	���/���	?�9����7���P������2+����02�/ 

+.���P���
���F��P� 

− �F;8F�	;/ �	��H����78
�0� 0?��.�B� Assistant IT Manager -��:
P CJ�I2�/ (����PQ

CP�) 	?��
@ 

2. 7B��.�
�	���
�����--�8�,	��1� 
451�7�>��7�H@1�����@5��A�������������
���I2J0/���/ 	?���� 4 �� 6�7B���B2����>+

�
�����-- ���451�7�>��7�H@1�����@5��A�������������
���I2J0/���/ 	��-��:
P451�
-�
���
I2J0/���/ 2��	?���� 6 �� ��+���� 10 �� C@1��B 

− �F;7���� 7����
�:/ 0?��.�B� Senior System Analyst -��:
P ��FB+�.�,�8.������ 	?��
@ 
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− �F;������; �-+�7
� 0?��.�B� �
��^�-
0�����2+����02�/ ��@
- 6 ���CJJ_�8B��
95+�9�� 

− �F;8F�7
� +��F��:/ 0?��.�B� System Consultant -��:
P CP��+�@�7� 	?��
@ 

− �F;8�2F;� P2���=2��2� 0?��.�B� IT Specialist  -��:
P AIS 

− �F;8����
0�/ �-+�7
� 0?��.�B� System Development -��:
P BEC IT Solution Co.,Ltd. 

− �F;�K��+�
0�/ �12��
����F� 0?��.�B� ���+���451	
@��� -��:
P C2 @�8����/ +��@�� 
	?��
@ 

 

	�������������
  

 1. �--8
+9�:;/�7���<���=>282-d�+���+012����32�4516716�����@,�0B��e �7B� ���
����4����	
@P?�A�������B��.�1� �fH.�P�>���@3<
���.�B�����P?�A������ ������+012����
��--����4����0�@0�+A������4B����,- 
 2. ��--����4����0�@0�+A������4B����,-P�>�
���3<
� 
 3.  �--8
+9�:;/����--����+�����+�<��26	0B2���671�����--����4����0�@0�+
A������4B����,- 6�����@,�0B��e �7B� ��--8�+��dP?����C@1d5�012� 0��0�+���+012����32�
451671 8�@��0B2���671��� ���+8����+ ����-B���@
-451671��� ���+��2@9
�32�312+5� �fH.�
���312�8�2���P�>���@3<
���.�B�����671��--  
 

���	��������� ����� 
�����,-��-��+312+5� �-B�22����� 2 7B�� �=2 7B���B2��
�����-- ���.�
�	���
���

��--��1� 
 1. 7B���B2����>+�
�����-- 
 451��	
�C@1P?����0�@0B2451�7�>��7�H6����6.1312+5����+012����A@�671���8
+9�:;/�7���<� 
	?���� 4 �� �����,-��-��+312+5�d<��fH.�������+012����32���-- 8�+��d8�F�����@,�
�fH.�0B��e C@1@
���
 

− �fHH�P�>�-8B��6.HB6����P?�A�������=2 C+B8�+��d�g@A������C@10��0�+���� 
��=>2�	��3�@���=>2�+=26����0�@0�+���6��0B��7B�� 

− A�����+���-��.��A�������f		F-
�+�2�5B.���0
� +�P

�P�>�8���B�671	B�� ����--J�� 
���6.1-�����+�P

�4B����,-���C+B4B����,- ���+8�+��d6����P?����32��0B��
A�����+�,	�+�Jf��/7
����P�>�0�0B���
�C� -����

�Jf��/7
������2�+��C� 
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− A�����+���-��.��A������8B��6.HB C+B8�+��d�?���;�
�8F@P1��32����P?�
A������C@1 ��=>2�	���i�P��32�CP�+��
�.�F@+�� ���C+B�.+=2��i�P��8��� 

− 3�@��--���0�@0B28=>28��P�>0B2��=>2�P?�6.1���@���P�>4�@���@C@1�B�� 

− 451�i�-
0����C@1�
-32-�30���P�>C+B7
@�	� 

− C+B8�+��d0��	82-8d������P?����32�451�^�-
0�����0B����C@1 ���PF���+2�
C+B�.,�9����+32�P

�A������ P?�6.1������8�����A������C+B��-�=>�  

− 	?�������6�A������+�	?����+�� ���+�451�i�-
0����.����� P?�6.1���0B2���
0�@0�+ 

− 3�@7B2�P��6�����	1����+�1��.�1� ����fH.�P�>P
����� P?�6.1���@���+�B�71�����
�?�.�@ 

 
���8�+��d8�F�����@,����+012����32���-- C@1@
���
 

− ��--8�+��d�31�d<�C@1�B�� �����--22�C��/ 8�+��d671���C@1PF�P�>PF����� ��=>2
8�@��6����0�@0�+���671��� 

− 451�i�-
0����8�+��d-
�P<����+�1��.�1�����fH.�P�>���@3<
�C@1 

− ��--8�+��d�?�.�@�5��--�i�P��0�+���+012����C@1 

− ��--8�+��d7B��451	
@���A������6��������4�A������P�>	����@3<
�C@1 

− ��--8�+��d0�@0�+���+�1��.�1�32�������451�i�-
0����C@1 

− 8�+��d�?�.�@�?�@
-���6�A������ �7B� +����6@-1��P�>012��2���2=>�P?�6.1�8�,	
�B2�d<�	�8�+��d���>+P?�C@1 

− ��--+�9����+�8@�8d���32����6�A������ ������+�1��.�1�32����6�
A������ 

 
2. 7B��.�
�	���
�����--�8�,	��1� 

 451��	
�C@1P?����0�@0B2451�7�>��7�H@1�����@5��A�������������
���I2J0/���/ 	?���� 4 
�� (6�7B���B2����>+�
�����--) ���451�7�>��7�H@1�����@5��A�������������
���I2J0/���/ 
	��-��:
P451�
-�
���I2J0/���/ 	?���� 6 �� ��+���� 10 �� A@�671�--8
+9�:;/����--
����+�����+�<��26	0B2���671�����--����4����0�@0�+A������4B����,- �����,-��-��+
312+5� 
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�����	����!" �����  

����������./312+5� �-B�22����� 2 7B�� �=2 7B���B2��
�����-- ���.�
�	���
���
��--��1� 
 1. 7B���B2����>+�
�����-- 
 �?�312+5�P�>C@1	�����8
+9�:;/�7���<� +��������./��=>2.����+012����32�451671 ���671
�������P��6�����
�����--����4����0�@0�+A������4B����,- I<>�8�+��d8�F�+�����
32-�30���P�>	��
���C@1@
���
 

− ��--8�+��d@?��������4B����,-CI0/ C+B012�+����0�@0

�A�����+ 8�+��d671���C@1
PF�P�>PF����� ��=>28�@��6����0�@0�+���671��� 

− +�����?�.�@8�PW�X6�����31�671���6�8d���451671P�>�0�0B���
� �7B� 451@5����-- 
451	
@���A������ 8+�7��6�P�+��� 

− 451@5�����-- 8�+��d�?�.�@8�PW�X����31�671���6.1�
-45132671�����-- 

− 451	
@���A������ 8�+��d8�1��A������ �?�.�@8+�7��6�P�+ �?�.�@����B2���12+
�
-451�
-4�@72- ���8�+��d0�@0�+���+�1��.�1�32�����B2�C@1 A@�+�����8@�8�F�
������8d���32�����B2�6.1�
-451	
@���A������ ��=>26710�@0�+���+�1��.�1�32�
A������ 

− 8+�7��6�P�+��� 8�+��d�	1�8d�������B2�P�>C@1�
-+2-.+��6.1�
-451	
@���
A������ ���8+�7��6�P�+�
-P��- 

− ��--+�����?��P��������������./A���3B������--��W�8��������j0 (Critical Path 
Method) +�6716�3

�02��������4���-�F+����32����0B��e P�>	����@3<
�6�
A������  

− ��--8�+��d�?�.�@�5��--�i�P��C@10�+���+012����32�451671 
 
2. 7B��.�
�	���
�����--�8�,	��1� 

 6.1451671P?����P@�2�671��-- ���02-�--8
+9�:;/����--����+�����+�<��26	P�>+�
0B2���671��--����4����0�@0�+A������4B����,- 	���

��?�312+5�+�P?�����������./ 8�F� 
29�����4� ���312�8�2���  
 

 

 



 �#$%�$���&�'$��������(�$(��%�)%��*���������$	���

 .�
�	��P?������,-��-��+312+5����P?�����������./��--����-�12���1� 
�
�����--A@�671 C#.Net 
m��312+5� A@�+�3

�02����@?��������@
���


1. �������./A���8�1�����8d��f0����+ 
0�@0�+A������4B����,- 
��--8�+��d@?��������4B����,-CI0/ C+B012�+����0�@0

�A�����+ 8�+��d671���C@1PF�P�>PF����� 
��=>28�@��6����0�@0�+���671���

 

+�&��� 3.1 

 2. �������./Jf��/7
���� 
0�@0�+A������4B����,- 012�+�Jf��/7
����0�+���+012����A@��-B�22����� 

���+012����P�>����.�1�P�>.�
� 
A������4B����,- I<>�+�451671�������2-C�@1��
(Project Manager) ���8+�7��6�P�+ 
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���(�$(��%�)%��*���������$	��� 

.�
�	��P?������,-��-��+312+5����P?�����������./��--����-�12���1� 
C#.Net �������=>2�+=26�����
���A�����+ ���671 

+�3

�02����@?��������@
���
 
�������./A���8�1�����8d��f0����+ (System Architecture) 32�

 �?�.�@A���8�1��6.18�+��dP?����4B�����=23B��2���P2�/��,0
��--8�+��d@?��������4B����,-CI0/ C+B012�+����0�@0

�A�����+ 8�+��d671���C@1PF�P�>PF����� 
��=>28�@��6����0�@0�+���671��� 

 
 8d��f0����+��--����4����0�@0�+A������4B��

 

�������./Jf��/7
���� (Functional Analysis) ��=>2��������?�.�@�B�
012�+�Jf��/7
����0�+���+012����A@��-B�22����� 

���+012����P�>����.�1�P�>.�
� (Functional Requirement) ��--
I<>�+�451671�������2-C�@1��451@5����-- (Administrator) 
���8+�7��6�P�+ (Member) A@���--	�012�8�+��dP?�.�1�P�>C@1@
���


.�
�	��P?������,-��-��+312+5����P?�����������./��--����-�12���1� 451��	
�C@1���>+
�������=>2�+=26�����
���A�����+ ���671 SQL Server ����

32���--����4����
�?�.�@A���8�1��6.18�+��dP?����4B�����=23B��2���P2�/��,0 ��=>26.1

��--8�+��d@?��������4B����,-CI0/ C+B012�+����0�@0

�A�����+ 8�+��d671���C@1PF�P�>PF����� 

 

����4����0�@0�+A������4B����,- 

��=>2��������?�.�@�B���--����4����
012�+�Jf��/7
����0�+���+012����A@��-B�22����� 2 @1�� �=2  

��--����4����0�@0�+
(Administrator) 451	
@���A������ 

A@���--	�012�8�+��dP?�.�1�P�>C@1@
���
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1. 451@5����-- (Administrator) 6.18�PW�X451	
@���A������ (Project Manager) P�>32671
��--����4����0�@0�+A������4B����,- 

2. 451	
@���A������ (Project Manager) 8�+��d8�1��A������ ���>+8+�7��6�P�+ ���
���>+����B2�6�A������ ��12+P

��?���;8��������j0 (Critical Path Method) 32�
A������ ��=>26716��������4����0�@0�+A������ 

3. 8+�7��6�P�+ (Member)  8�+��d��1C3����B2��K������P�>C@1�
-+2-.+��	��
451	
@���A������ �7B� �	1�8d������@?�������� 2
�A.�@CJ�/�2�8��P�>���>��312��
-
��� ����01� 

 ���+012����P�>C+B67B.�1�P�>.�
� (Non-Functional Requirement) I<>�+�	�����+012����
32�451671���6�.���e @1����=>26.1��--8�+��dP?����C@1@���>�3<
�����2-C�@1�����+8�+��d
@
�0B2C���
 

1. ���8+
��8+�7����=>232671�����--  
2. ���6.18�PW�X���������8�PW�X���671�����-- 
3. ����31�85B��--���22�	����-- 
4. ����?�.�@�5��--�i�P��  
5. ������>+ �- ��1C3A������ 
6. ������>+ �- ��1C38+�7��6�P�+ 
7. ������>+ �- ��1C3����B2� 
8. �������>���.
84B��  

 
 3.  8�1���--	?��2���=>2����0
��P�P�>�8@�6.1�.,����P?����32���-- .�=2�8@�6.1�.,�
.�1�P�>32���-- ��+d<�A���8�1�����8B������2-0B��e A@�671 Use Case Diagram I<>�����
�4�9��P�>671�8@��i�8
+�
�W/��.�B����--��� A@��-B���--22����� Subsystem ���451671��� 
(User) A@������ Subsystem �B� vUse Casew �������� User �B� vActorw  
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+�&��� 3.2 Use Case Diagram 32���--����4����0�@0�+A������4B����,- 
 
 	��9��P�> 3.2 Use Case Diagram 32���--����4����0�@0�+A������4B����,- 
����2-@1�� User (Actor) �=2 451@5����-- (Administrator) 451	
@���A������ (Project Manager) 
��� 8+�7��6�P�+ (Member) 
 451@5����-- (Administrator) 8�+��d�?�.�@8�PW�X451671�����-- (Permission) A@�P?�
.�1�P�>0��	82-312+5�32�45132671��� ���6.18�PW�X/������8�PW�X45132671�����--����4����
0�@0�+A������4B����,- 
 451	
@���A������ (Project Manager) 8�+��d	
@����
-��--����4����0�@0�+
A������4B����,- C@1@
���
 

− 8+
��8+�7�� (Register) 451	
@���A������8+
��8+�7����=>232�31�671�����-- 

− ���>+A������ (Add Project) 451	
@���A���������>+A������6.+B�31�6���-- 

− ���>+��6�A������ (Add Member) 451	
@���A���������>+312+5�8+�7��6�P�+P�>P?�
A�������B�+�
��31�6���-- 
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− �31�85B��-- (Login) 451	
@���A��������2��.
8451671 ����.
84B����=>2�31�85B��-- 

− ���>+��� (Add Task) 451	
@���A���������>+����B2��31�6�A������ 

− 0�@0�+���+�1��.�1�32�A������ (Project Monitor) 451	
@���A������8�+��d�.,�
9����+32�A������ �������B2�6�A������C@1 

− �?�.�@�5��--�i�P�� (Calendar) 451	
@���A������8�+��d8�1���5��--32��i�P��
8?�.�
-2��/��C@1 �7B� �?�.�@�
�.�F@���	?�8
�@�./���� �
�2�P�0�/ ����
�	
�P�/ 

8+�7��6�P�+ (Member) 8�+��d	
@����
-��--����4����0�@0�+A������4B����,- C@1
@
���
  

− ���>+������2��@��� (Update Task) 8+�7��6�P�+8�+��d���>+������2��@���P�>C@1�
-
+2-.+���31�6���-- �7B� 8d������+�1��.�1�32���� ������2��@��� ���CJ�/
�2�8��P�>���>��312��
-��� 

− �31�85B��-- (Login) 8+�7��6�P�+��2��.
8451671 ����.
84B����=>2�31�85B��-- 

− 0�@0�+���+�1��.�1�32���� (Task Monitor) 8+�7��6�P�+8�+��d�.,�9����+32�
A������ �������B2�6�A������C@1 

 
 4. P?����22��--8d��f0����+32���=
2.�A�����+ (Content Architecture) .�=2
-����

�������
��B� vSite Mapw ��=>2�?�.�@A���8�1������?��8�232���=
2.�P

�.+@P�>����i-�
��,-CI0/ A@��-B�22�����A���8�1��@
��5� 
 .�1�.�
�32���--����4����0�@0�+A������4B����,-����2-C�@1������7=>2+A���
-
��=
2.�0B��e @
��5� 
 

 
 

+�&��� 3.3 �8@�A���8�1��.�1�.�
�32���--����4����0�@0�+A������4B����,- 
  
 A���8�1��32���=
2.�����2-C�@1��8B��0B��e @
���
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− 8+
��8+�7�� 45132671�����--����4����0�@0�+A������4B����,-6�m���451	
@���
A������	�012�8+
��8+�7����=>232671����B2� 

− �=+�.
84B�� �+=>2451	
@���A������ ���8+�7��6�P�+ �=+�.
84B��8�+��d68B7=>2451671 
���2��+�/ ��=>2�2�
-�.
86.+BP��2��+�/ 

− �31�85B��-- ����8B��32�451@5����-- 451	
@���A������ ���8+�7��6�P�+ P?����
��2�312+5��31�85B��--�=2 7=>2451671 ��� �.
84B�� ��=>2�31�671�����--6�8B��2=>�
0B2C� 

 
 .�1�32�451@5����-- (Administrator) ����2-C�@1������7=>2+A���
-��=
2.�0B��e @
��5� 
 

 
 

+�&��� 3.4 �8@�.�1�32�451@5����-- 
 

 A���8�1��32���=
2.�����2-C�@1��8B��0B��e @
���
 

− �?�.�@8�PW�X451671��� .�
�	��45132671�����--��2�312+5�8+
��8+�7������-�12�
��1� 451@5����--	�P?����0��	82-312+5����6.18�PW�X6�����31�671�����--
0B2C� 

− @5������451671��� 	��8@�������45132671�����--P

�.+@ ���451@5����--
8�+��d�?�.�@8�PW�X .�=2������8�PW�X45132671�����--C@1	��������451671��� 

− 22�	����-- �+=>2451@5����--012����22�	����-- 
 

 .�1�32�451	
@���A������ (Project Manager) ����2-C�@1������7=>2+A���
-��=
2.�
0B��e @
��5� 
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+�&��� 3.5 �8@�.�1�32�451	
@���A������ 
 

 A���8�1��32���=
2.�����2-C�@1��8B��0B��e @
���
 

− A������ 451	
@���A������8�+��d���>+ �- ��1C3 ���8�+��d@5���+�1��.�1�
32�A������C@1 �+=>2451	
@���A���������>+A����������-�12���1� 	<�8�+��d���>+ 
�- ��1C3  �������4����A@�671����?�;�� CPM C@1  

− ���>+��6�A������ 451	
@A��������=2�A������P�>012�������>+�� 451	
@���
A��������2�312+5�8+�7��6�P�+ C@1��B �.
8451671 �.
84B�� 7=>2 ��+8�F� 
0?��.�B� ���2��+�/ 

− ����>���.
84B�� 451	
@���A������8�+��d����>���.
84B��6.+BC@1 

− 22�	����-- �+=>2451	
@���A������012����22�	����-- 
 
 .�1�32�8+�7��6�P�+ (Member) ����2-C�@1������7=>2+A���
-��=
2.�0B��e @
��5� 
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+�&��� 3.6 �8@�.�1�32�8+�7��6�P�+ 
 
 A���8�1��32���=
2.�����2-C�@1��8B��0B��e @
���
 

− ���6�A������ 8+�7��6�P�+8�+��d@5���+�1��.�1�32����P

�A������C@1 
���8�+��d���>+�0�+������2��@32����P�>C@1�
-+2-.+� C@1��B ��2�/�I,�
���+�1��.�1�32���� ������2��@��� ������>+�2�8����-C@1 

− ����>���.
84B�� 8+�7��6�P�+8�+��d����>���.
84B��6.+BC@1 

− 22�	����-- �+=>28+�7��6�P�+012����22�	����-- 
 

5.  P?�����
�����--����4����0�@0�+A������4B����,-0�+�5��--P�>�?�.�@���0�+
A���8�1��32���,-CI0/ 

6. 0��	82-3124�@���@32���--����4����0�@0�+A������4B����,- �����1C3��--
6.18+-5�;/ 

7.  32���+2�F�����./451�7�>��7�H 10 PB�� P@�2�671�����--����4����0�@0�+
A������4B����,- 7B��P?��--����+�����+�<��26	���6.18
+9�:;/ 

 8.  �?�4��������+�����312+5�P�>C@1	�����8
+9�:;/	��451�7�>��7�H+��������./���
8�F�4� A@�+���;{/���������+.+��32�������K��>�	���--����+���F;9��82-d�+���+
�<��26	0B2���671�����--����4����0�@0�+A������4B����,- �-B�������@
- C@1��B 

������K��>� 4.50 | 5.00 .+��d<� +����+�<��26	2�5B6���@
-+��P�>8F@ 
������K��>� 3.50 | 4.49 .+��d<� +����+�<��26	2�5B6���@
-+��  
������K��>� 2.50 | 3.49 .+��d<� +����+�<��26	2�5B6���@
-�������  
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������K��>� 1.50 | 2.49 .+��d<� +����+�<��26	2�5B6���@
-�12� 
������K��>�  1.00 | 1.49 .+��d<� +����+�<��26	2�5B6���@
-�12�P�>8F@ 
 


